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7)

With reference to the Ayushman Bharat
Pradnan Mantri Jan Arogya Yola.na
(AB PM-JAY), consider the following

statements :
1. It offers a sum insured of Rs.5 lakh

per family for secondary care.
2. It does not provide insurance for

tertiary care.
3. |t identifies the beneficiaries via the
latest Socio- Economic Caste Census

(SECC) data.

Which of the statements given above
is/are correct ?

(A) 1and 2 only
(B) 1and 3 only
(C) 2 and 3 only
(D) 1,2and 3

(E) Not attempted

In 1999, the was completed to
replace the aged Tajewala Barrage across
Yamuna river.

(A) Hathni Kund Barrage
(B) Indira Gandhi Canal
(C) Bhakranangal

(D) Hakra Canal

(E) Not attempted

Right/Left Hand Curve signs are used

where the direction of alignment

(A) does not change

(B) is straight

(C) changes

(D) none of the above
)
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4. Who among the following was the Chief

Minigtgr of Haryana to declare complete
prohibition on alcohol ?

(A) Devilal

(B) Om Prakash Chautala
(C) Bansilal

(D) Bhupinder Singh Hooda
(E) Not attempted

5. The National Early Childhood Care and
Education Policy was formulated in the
year which became the first policy
exclusively for children in the early years.

(A) 2011 (B) 2013
(C) 2012 (D) 2014
(E) Not attempted

6. The Asiatic Lion was widely spread over
India earlier but now its natural habitat is
restricted only to the of Gujarat.

(A) Gir area

(B) Gulf of Khambhat
(C) Rann of Kutch
(D) None of the above

(E) Not attempted

7. British removed Haryana from North
Western province and merged it with

Punjab in

") 1857
e

(B) 1867 il

(C) 1858

(D) 1888

(E) Not attempted
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| i ¢ Karnal district Of g o HE
g. Gandhi Memonal\HaII 0 . S g 9 -
' lier known @ 3
Haryana was ear o e
ial Hall (A) ST LU i
(A) George Memor A <
(8) Indian Memoria Hall (B) ¥ ¥ iR o
(C) Victoria Memorial Hall \/g)/ miaaim“ml Gl S‘gﬁﬁ
(D) Chhotu Ram Memorial Hall ) CLISH
E CRRITEE
(E) Not attempted (E)
p021-22 3 TG FTHI G A&
9 is an integrated women %’
. mnt programme launched e @?{ﬁ | II%_EIImiajﬁ-{lg HTHA
by the Govi. of India in 2021-22 as an ol q%maﬁ_aﬁ g, & GHIERERY
umbrella scheme for the safety, security %ﬁ & TIOI ( ST Ll 2
and empowerment of women. iy -
(A) Mission Naari e " |
(B) Mission Shakti s (© T gaﬁul i
(C) Mission Stree %" : &3 s e
(D) Mission Samman A forer AT
(E) Not attempted (E) ERRIER
T EEIGR!
10. As per the School Bag Policy 2020, school [ 10. ¥R o iferdt 202.0 % IIER
shall offer Languages along with , v IRV hE 7 Tfvrd 3ﬁ'( q? Elu
Mathematics and Environmental Studies S & AY-91Y BIEUE
in Classes lll, IV and V. | 3 »
(A) One (B) Three o :‘é (A) Th ®) €
: it
(E) Not attempted (E) STy

Pilot project of Sanjeevani Pariyojana
begun at district of Haryana.

(A) Kurukshetra
(B) Jind

(€)
(D)
(E) Not attempted
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12. which of the following factorg limi froodom
in the designing of a school timo (gl ?

(A) Teacher avallability
g
A
%&E

(B) Time
(C) Lack of public utilitios

(D) All of the above

Difficulties in acquiring knowledgo and
skills to the normal level expected of thoso
of the same age, especially because of
mental disability or cognitive disorder is
called

A
B

(E) Not attempted

13.

(A) Cognitive difficulties
(B) Learning difficulties
(C) Attention difficulties
(D) None of these
(E) Not attempted

The National Yoga Olympiad is being

organised jointly by the Ministry of

Education and

(A) National Educational Technology
Forum (NETF)

(B) School Quality Assessment and
Accreditation Framework (SQAAF)

(C) National Schools Authority of India

(D) National Council of Educational
Research and Training (NCERT)

14,

(E) Not attempted

15. As per Constitution of India, which of the

following Article ensures gender equality ?

(A) Article 16 (B) Article 15 (3)

(C) Article 15
(E) Not attempted

(D) Article 14
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16.

17.

18.

19.

i ia, 1988
National Forest Policy of India, 1

envisages a goal of achieving t
of the geographical area of the country

under forest and tree cover.
(A) 33% (8) 25%

(C) 55% (D) None of the above
(E) Not attempted

This river enters the Haryana State near
Pinjore

(A) Kumudwati .
(C) Drushavati
(E) Not attempted

(B) Yamuna
(D) Ghaggar

Counseling helps students in the following

ways except E]ﬂg:'é

(A) Resolving lnterpersonal problems and
fostering positive group behaviour
(B)
(C)
(D)

Enhancing self-esteem
Establishing unclear academic goals

Working through personal problems
which cause emotional distress

(E) Not attempted

National Dairy Research Institute (NDRu),
Karnal evolved from the erstwhile

(A)

Gowt. Institute of Dairy Technology
(B)

National Animal Husbandry
Organisation

(C)
(D)

National Dairy Institute

Imperial Institute for

Anima| Hu
and Dairying Sbandry

(E) Not attempted
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i
s0. When learning or training in one situation

hinders, interferes or weaken the learning
in another situation is termed as

(A) Zero transfer

(B) Positive transfer
(C) Negative transfer
(D) Both (B) and (C)
(

E) Not attempted

crossings should be used
by the pedestrians to cross road.

(A) Footpath
(B) Side road
(C) Zebra

(D) Main road
(E) Not attempted

21.

Which of the following is the community
managed irrigation system in the Tapi
River basin in Maharashtra ?

(A) Phad

(B) Taanka

(C) Bawari

(D) None of the above
(E) Not attempted

22,

Which of the following is not a principle of
school time table construction ?

23.
(A) Type of school &
(B) Amount of time available
(C) Departmental regulations
(D) Age of the teacher

(E) Not attempted

o ralz2l
ElialEl

MT — TO07

20. mqui&rﬁfﬁﬁmmuﬁmﬁi{m
ffy % arform # =4, gwéﬂmgéa?"
R B argram%l
(A)?HWT"T )

(B) THITCHH FEaTa
\/pefqma?swiﬂw

(D) (B) 37T (C) T

(E) e

21. Waﬁﬁmmmm@%@q
_ a:rfhﬂsm’maﬁsmﬁ%l

(A) FET
(B) T ! HSH

23.




24. Rash driving is punishable under

25.

26.

27.

~ whole biosphere is approximately

(A) Section 304 of IPC
(B) Section 279 of IPC
(C) Section 336 of IPC
(D)

(E)

Section 258 of IPC

Not attempted

When assessment is undertaken to assess
a learner’s progress in achieving defined
learning goals/learning outcomes, it is
considered as

(A) Comprehensive Assessment
(B) Continuous Assessment

(C) Both (A) and (B) ‘“
(D) Competency Based Assessment
(E) Not attempted

In Haryana, Mazdoor Divas will be .
celebrated on

(A) January 30

(B) April 14 @Jq;@
(C) March 9 m”[ﬁ
(D) None of the above
(E) Not attempted

The annual net primary productivity of the

(A) 170 billion tons (dry weight) of organic
matter

(B) 300 billion tons (dry weight) of organic
matter .

(C) 100 billion tons (dry weight) of organic
matter

(D) None of the above
(E) Not attempted
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28.

29.

30.

31.

Rang Mahal of Ambala gt

was erected during the relgnlcéfm Haryana
Akbar
(A) Akbar e
(B) Alamgir E]Q
C) Shah Jahan
) Nadir Shah
)

(
(D
(E) Not attempted

Children usually dusplay S€paration anxiety

tillthe age of whichis considered

as a part of healthy development.
(A) 3years

(B) 6 years

(C) 5years

D)

E) Not attempted

(D) 8years

(

Which of the following Ministries of India
had been launched SeHAT Initiative ?

(A) Ministry of Defence

(B) Ministry of Rural Development

(C) Ministry of Family and Health Welfare
(D) Ministry of Panchayati Raj

(E) Not attempted

It refers to not only simply ‘seeing’ a thing,
but to the act of perceiving or observing

the stimulus
(A) Imitation
(B)

(C) Observation

(D

Trial and error

Insight

)
(E) Not attempted
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32.

33.

34.

35.

36.

Validi
(A) 1 Year

(B) 30 days

(C) 6 months

(D) None of the above
(E) Not attempted

. is
ty of learners licence |

ion
The Juvenile Justice (Care apd Protectrlo
of Children) Act was passed in the yea

(A) 2013
(B) 2015 oo
(C) 2014 :é.:t’iﬂ
(D) 2016

(E) Not attempted

What is the maximum age of a girl for
opening an account in Sukanya Samriddhi
Yojana ?

(A) 7 years

(C) 8years

(E) Not attempted

(B) 9years
(D) 10 years

Which of the following is/are key aspect/s
of children’s play ? ' -

(A) Wonder
(C) Joy

(E) Not attempted

(B) Choice
(D) All of the above

Who among the following received the
Prestigious Champions of the Earth Awarg

(A) Purnima Devi Burman
(B) Ravishankar Prasad
(C) Vandang Shiva
(D) None of the above
(

E) Not attempteq
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38.

39.

40.

41.

Mission is the Nation
for Civil Services Capacity

(A) Karmayogi

al Programme
Building,
(B) Atmanirbhar

(C) Jnanayogi (D) Nagarik Seva

(E) Not attempted

Nawab Fadai Khan, the architect of

Pinjore garden was the foster b
B o rother of

(A) Akbar
(C) Babar
(E) Not attempted

(B) Aurahgzeb
(D) Shah Jahan

How many Ramsar sites are present in
India ?

@ 75 BB () 0
(C) 85 Euthi[E (D) None of the above

(E) Not attempted

Which of the following is/are example/s of
man-made ecosystems ?

(A) Crop fields

(B) Aquarium

(C) Both (A) and (B)
(D) None of the above
(E) Not attempted

In 2019, the developed a

Preschool Curriculum for three years of
preschool education along with Guidelines
for Preschool Education.

(A) NCERT (National Council of
Educational Research and Training)

(B) NCFW (National Curriculum Frame
Work) _

(C) NEP (National Education Policy)

(D) NECCE (National Early Child Care

Education)
(E) Not attempted
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42. Information signs are given in

(A) Red circle (B) Black circle
(C) Red triangle (D) Blue rectangle

(E) Not attempted

43. This poet from Haryana was honoured
with the Padma Bhushan Award in 2005
and Punjab Ratan Award in 2001

(A) Lakhmi Chand
(B) Sardar Anjum
(C) Altaf Haali

(D) Murarilal Sharma
(E) Not attempted

44. K. Malleshwari had won the bronze
medal at Sydney Olympics, 2000 in A
weightlifting category.

(A) 55kg (B) 69 kg
(C) 65kg (D) 75 kg
(E) Not attempted

45. Recently, Haryana Chief Minister Manohar
Lal Khattar launched the ___ Scheme
with the objectives of providing financia|
assistance to Antyodaya families in case
of death or disability.

(A) Dayaly (B) Atma bandhy
(C) Deen Bandhy (D) Sakha
(E) Not attempted

46. Indira Priyadarshini Vriksha Mitra Awards
are given by .

(A) Government of Karnataka

(B) Ministry of Environment and Forestg of
Government of India

(C) Union territory of Andaman and
Nicobar -

(D) None of the above
(E) Not attempteq
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48.

49.

50.

W

in which of the following place cheetan
reintroduced in India ?

A) Kuno National Park

(

(B) Silent Valley National Park
C Kudremukha National Park
(

NOI e Of the above E ||E
=
°Q

)
D)
) E’n 10

(E) Not attempted

In Haryana, Rajiv Gandhi Parivar Bima
Yojana was launched in

(E) Not attempted

Which among the following is an epic play
written by Emperor Harshavardhana ?

(A) Avanti Sundari Katha

(B) Meghaduta

(C) Kadambari

(D) Ratnavali

(E) Not attempted

Decomposers break down complex

organic matter into inorganic substances
like

(A) Nitrogen dioxide, water and nutrients
(B) Carbon dioxide, water and nutrients
(C) Carbon monoxide, water and nutrients
(D) None of the above

(E) Not attempted
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51. If A and B are square matrices of same
order, then (A + B) (A-B) = -
«A) A2 — B2
4B) A’-B%+BA-AB
(C) A®~BA-AB - B?
(D) A®+B?-BA + AB
(E) Not attempted

52. A group consists of 4 girls'and 7 boys. The

number of ways a team of 5 members be

selected if the team has no girls is

(A) 42 | 35 .
4€) 21 (D) None of tHese%
(E) Not attempted

53. 1f]a]=|B|, then (3 +B)-(3-B)-
(A) Positive '
(C) Negative
(E)_ Not attempted

Zero
(D) None of these

54. The variance of the first n natural numbers is

2 _ 1
SN ® 5
2 _4 n(n? +1)
(©) ——"‘“1 . ) ()

(E) Not attempted

55. The perpendicular distance of the point

(8, 5, 8) from y-axis is .

XI5 units "~ (B) 8 units [E1i0

AC) 6 units (D) 10 un'its;. E;j
YE) Not attempted

' 56. The range of the function‘f(x) = x2L+ 2,

X eRis \
(A) (2, ®) vf{ 2 =)
(C) (=,.0) (D) None of these

(E) Not attempted

51

52.

53.

54.

55.

56.

#
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(E) 15y

Uh B ° 4 wigfRal aik 7oh § | 9f v
&M 3 i I 7 R, A 5 gewdi 6w A |
1 A ot 7l & e s g 2 7

(A) 42 (B) 35
() 21 (D) ¥ ¥ g &
(E) S5
IR |2|=1B], @ @+B)-(3-8)=
(A) g-TcHh (B) ™
(C) =RUTTcH<h (D) ¥ 4 i T
(E) STvafa
W n Wi Hena #1 e 2
(A) n’ -1 (B) n® +1
12 12
2
©) n(n122— 1) D) n(n12+ 1)
(E) Tt
-y @ g (6, 5, 8) M e gt 2
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. 1lue of f in® \
9‘) The V8 4 S xdx s
, ,..\ /2

vy
™ %2 (B) n
© 0 (D) 2p
m 1—COSX
58- )(“/)0 x2 .
A 1 AB) %
© 0 D) 3

(E) Not attempted

0. A card is selected randomly from a pack
of 52 cards. The probabuluty that the card

isan ace of spade is

A 1

(A) 3 E]?M{)/sz

(©) % JEE(D) None of these
(E) Not attempted

The locus represented by xy + yz=0is

(A) a pair of perpendicular lines e
\ABJ a pair of parallel planes

(C) a pair of parallel linegX

(D) a pair of perpendicular planes

(E) Not attempted

61. The number of possible outcomes W
fair coin |s tossed 6 timesis
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60.

(E) 3rsrRRid




MT - Tq;

- - >
62. Iflaxb]|=]a-b [, thenthe angle between

aandb is <1 17T B
T
X A B) 4
(A) m B 2 (A) ™ (B)
2 (C) 2% D) 3
(C) =x (D) & 3
o g fra
(E) Not attempted (E) s
3 N
63.  The area of the region bounded by 63. wuH =gat ﬁ X" =4y,y=2,y=43K
X" =4y, y =2,y =4 and the y-axis in the y-t & R & 1 eerse & (3o

1% quadrant is (in $q. units)

! (A) 4(4-+2)
A 4(4-3). 3

2
) 2 & g
3
4(g_2.2
N 4(s-2v2) g © 50-2%2)
(D) None of these Eﬁﬁc@? (D) ¥ & FIE T
(E) Not attempted (E) 3Ty
64.  The principal solutions of the trigonometric | 64- Preprutfidta THfiTT cosec 6 = - 2% T
equation cosec 6 =—2are . ' A8
Ay 7n 11n VN =T 7n 1in T -
(C) ﬁ In (D) None of these (c) Sz, I (D) T8 | & T
6 3 , 6 3
(E) Not attempted (E) Avamfda
~  65. Familyy=Ax+A%of curves is represented |  65. shi % y = Ax + A3 T HI g ¢
- by the differential equation of degree - IRl AHISHOT gRT ST AT 8 |
WAA) 1 %%@(B) 3 (A) 1 (B) 3
(C) 2 eetiE(D) None of these (C) 2 (D) ST & B 7
(E) Not attempted (E) TRy
66. The distance of the 66. J a7 (g. 3. 6 )_ "ﬁ
?-(gi+-3—j—§k)- from the origin is gg ' 7, T 7Im 7K
RS el
B 1 7 (A) 1 (B8) 4
€ 7 one of these () 7 (D) ST ¥ F§ T
(E) Not attempted. é




5

o=t
in-1
CIf sinT X+sinTly o

(&

69

70.

71.

Vﬁ\’) 0.06

72.

M :
(C)

(A) (=4, 0¥

I

2

-1 ] the
-1, . n th
c0S .?(+Cos_ yis. € valye of

(B) 0
(D) 2z

e
2
T
(E) Not attempted

The minimum value of 4X
: , : 4 1=

(A2 @ L keR)e
©) (D) 0

(E) Not attempted

LetA={Xyz}B__{1 w -
) _ ’ 7— ’ = ’ 2 i T .
relations from Ato B is }. The'number of

) 32 (B) 16
(C) 64 (D) 6
(E) Not attempted
j dx’ -
je*+e”
A F  ERE 6 tan”'2
2o
(C) tan”'e ) tan'e-Z

(E) Not attempted

The probability that a student will pass his

examination is 0.73, the probability of the
student getting seat abroad is 0.13 and
the _probability that he will pass or get a
seat abroad is 0.80, then the probability of
he passing and .get’iing seat abroad is

) 0.06 B0
(D) None of these

(C) 0.6
(E) Not attempted

The co-ordinates of focus of the

X? =—16y.is

(C) (4,0)L
(E) Not attempted

(D) (0,4)

ue{ (0, - 45

67. g sin”'x+sin"y =

MT - T07

59

cos™'x +cos™ 14
5 s7'y 1AM @
—(C) n (D) 21
(E) arsenfia =
68. 4*+4'"* (x eR)H =T AH 2
(A) 2 (B) 1
() 4 (D) 0
(E) arsenfér
| 69. T GRMT A={xy,z},B={1,2} | AHB
% el 6l e 3
(A) 32 ’ (B) 16
(C) 64 (D) 6
(E)
1
| 7 J(;e" 3):9"‘ )
A 3 (B) tan™'2
(C) tan"'e (D) tan"'e-%
(E) T
71. e fermeff wlian efiot g i ST
0733, feremeff =h1 fore 3 HiE I il
£ wiftraT 0,138 3 g I ae A
o A e 1 & i MRIH.0.80 2,
4 ool 23 of e A e T &
TR
(A) 0.0 B0
() 06 (D) T/ HE T
| (E) i
ol 72, sz-—my%sqamatﬁémﬁ%
(A) 4,0 (B) (0, —~4)
(C) (4,0) (D) (0,4).
(E) It




p ax___ _
@ x(x? +1)
'b@ log|x| -

i —log]x| +—;— log(x? +1)+cC
\? log|x|+ % log(x® +1)+¢
(D) None of these *
(E) Not attempted

Iog(x +1)+cC

74. If Ais a matrix of order32< |A] = 5, then
[3A] =
(A) 15 \({ef 135
(C) 45 (D) None of these

(E) Not attempted

@ If [1-i =2% (wheren—\/—) the number
of non-zero integral soluti

<A>T"/*’5Zf‘f”§

(C) 2 (D) 0
(E) Not attempted

76. If the sum of n terms of an AP. is
A=3N + 2n then the common dlfference

Q}ftheAPls EEE] %37)4:”,
\/@ 3 ZE(B) 6
©€) 2 (D) 4

(E) Not attempted

(E) Not attempted

73.

74.

75.

76.

77.

MT - To

J‘ dx_ _
x(x? +1)
(A) loglx|-2log(x* +1)+¢

(B) —log|x| +Jd log(x® +1)+c¢

(C) Iog|x|+ log(x? +1)+cC

(D) 37 & I3 TR
(E) Agaifra Em

AR A, 3 x 3HIE T TH AR 2,
|A] = 5, T |3A| =

(A) 15 (B) 135
(C) 45 (D) 399 & B3
(E) rwamtéd

Ife |1—i|*=2*(aﬁi=ﬁ),a’rs@m
quries Bl ! HEAT &

(A) 1 (B) 4

C) 2 - (D) 0

(E) T9mfia

X e iR Ao % nwd @

S,=3n +2n? 8, a1 THIGX Aoft
WIS AR B
(A) 3 (B) 6

(C) 2 (D) 4
(E) 3Tt e ~.

(C) 1




N\ The value of tan (Sec“
{ s
J 08

A) 5 ' 2
((c) 11 — 13

D
(’E) Not aﬂempted ©) 15

<€3x—-4<
2. If 2 S, » then x Jigg ¢ in t

A)[ZS}

/6[2 3)

(E) ) Not attempteq

(B) (2, 3)
(D) [~ 3, - 2]

go. The arithmetic meg

N of the sep
124816 2N 2198

n

n
- < (D @
n+1 ) o

(E) Not attempted

~) The total possible Mmatrices of order 3x3
with each entry 2 or Q is . '

(A) 9 (B) 81

(C) 27 JAD) 512

(E) Not attempted

82. The number of different 4 digit numbers
that can be formed using digits 2, 3, 4 and\

7 without repetition is

A 24 (B) 2°

(C) 4*
(E) Not attempted
' In a circle of diameter 40 cm, th

of the chord is
(A) 10n cm

(C) -g cm

(E) Not attempted

he interyval

2

(D) None of these

78,

79,

80.

81.

82.

83.

MT - TO7
tan*(sec™ 2) + co(cogac™’ 3) %1 U B
(A) 5 (By 13
(C) 11 (DY 15
(E) arsremfera
% 2<3x -4 <5, « Harr
R R
(A) (-2, 3] (B) (2,3)

(E) stsenfire
’IEFTI124816 ...... 2" = FAFEE
ey 2
2N _1 20+ 1
(A) 2=1 (|) =
cy 201 _4 2 _1
©) n+1 (D) n+1
(E) vt
T afEaf 24 03 W3Ix 3FE F T
EECHC =
(A) 9 (B) 81
(C) 27 (D) 512
(E) 3ty

2, 3, 4 3 7 37! 1 YA ﬁmagtm
mﬁwm@mmm% ?

(A) 24 B) 2°

() 4* (D) ¥ ¥ H13 T
(E) Srsantd |
ST 40 cm TR TH T4 | & 6 T

20 cm ¥ | STa % T AW A TS 2

(A) 10m cm O a(B) 20“ cm
€ Fem am(o)s?ﬁﬁ@éqﬁ |
(E) 3T



N

[N
Angle between the vectors , g j and
‘ j-k is”
) 3 B -3
2n Sn
© 2 SO &

(E) Not attempted

85. The integrating factor of the differential
equation gX—-Sycotx =8in2x is [&]
(B) sin® En[ﬁ

(A) cosec x

(C) cosec™  \ D) cosec®
(E) Not attempted

%
86. [cos®xdx=

0 .
(A) 7 \/({)
(C) o (D) 1
(E) Not attempted

N3

87. If [x+ 3|2 10, then
(A) x €(~13, 7]
\/«5) X € (—o0, =18] U [7, )
(C) xe(-13,7) ,
) X e [-13,7]
(E) Not attempted

88. ThesetA={x: xeR—,.

interval is
(A) [-4, 6] (B)
) (-4, 6], (D)

(E) Not attempted

89. If the median of 'Q)S, -g-,
‘(where x > 0) is 6, then
(A) 6 - (B) 12
© 18 D)
(E) Not attempted

84.

85.

86.

(A)% (B) %
© & ® F
(E) 9T

HW‘X 3ycotx = sm2x%5
FATHH 0T |

(A) cosec X (B) sin’x
(C) cosec (D) cosec’x
(E) ITSRIRId

72 [EEE

g cos? x dx = g?% \ ;
®) % ®) 3
,(C) 0 (D) 1

(E) TSR

a‘f aﬁ|x+3|>10?ﬁ

‘A) x e(13, 7]

®) xel~,-18] U [7, )
(C) xe(-13,7)’




Eg n
If "Ci2 = Caq then p o

a0

1

(A :o (B) 24
C)
‘/ (D) None »
(E) Not attempteq these
i 121=10,|B |= i
87 5 = 1P1=2 ang g2 b)=12, y
jaxbl= 10.2 .G\ on
(A) 12 )
16
(© 14 (D) 18
( E) Not attempted
92. P(2, 3, — 1) liesin \
) LWasiant VfB)/VI octant
C) V octant

94.

(

( (D) No
ne of th

(E) Not attempted es,,?

If Aand B are symmetric mat
. order, then AB'-BA’ is a rices of same

\/ﬂ\) Skew-symmetric matrix
(B) Symmetric matrix
(C) Null matrix ‘
(D) ldentity matrix
(E) Not attempted

N

If A and B are any 2 events such that

P(A)=1, PB) =1 and PANB)=],

then P(A/é)= ‘
(A) - (B) 0

©) 7 ‘/( 4

(E) Not attempted

e * 3

‘_; SN

[a;]px2 Were

9. If matrix A = ifi=]
then A% =
(A) | (B)%

W) A

(E) Not attempted

o

E-]'.aEl

90. e "c,,="C, n=
(A) 4 (B) 24
(C) 20 (D) I | v T
(E) arsrnfird

91. ufe |a|=10,|b|=2 3 (a-b)=12,d
laxb|=
(A) 12 (B) 16
(C) 14 (D) 18
(E) atwenfera

92. P(2,3,-1)___ HZI
(A) IV 3Teeia (B) VI 31z
() V Tz (D) T B IS T
(E) Irrenfed

| Je3. e A i B if % wmiid 3ok &,

W AB' -BA' 8
(A) T -—wmfia egg
(B) Tmfta 31sgg
(C) A =&
(D) dcETeh IR
(E) 3TSRITRId

94, R A3 B A Hed 30 VSR & 6

P(A)=1,PB)= 3t PANB)=7,

@ P(Ag)=
(A) % (8) 0
©) 15 D) 3
(E) 3TRnféa
95. zrﬁ:ﬂla’ﬁA:[aﬁ]MTﬁT ij = {0 _q_%|fj
AT = s
(A) | (B0
(C) A (D) -A
(E) '




B

96. The magnitude of the vector

6i+2]+3K is

(A) 11 \AE) 7

(©) Va8 (D) 50 %]aﬁ
(E) Not attempted

97.

not cricket is
) 25
(C) 15
(E) Not attempted

(B) 10
(D) None of thqu,\e '

98. fe"(cpsx —sinx) dx =
(A) e*sinx+c
\/fg) e*cosx+c
(C) 2e*sin X+cC
(D) None of these
(E) Not attémpted

99. Three vertices of a parallelogram ABCD
are A@3,-1,2),B(1,2, - 4)andC( —fimd, 2)
The co-ordinates of the 4t vertex

A -28 @ 0.2

(€) (1,0,8) D) (1,2
(E) Not attempted |

i.if‘W(D_ ifP(n) 2n<n! ne N, the gs
alln>

In a group of 65 people, 40 like cricket,
10 like both cricket and tennis. The number
of people in the group who like tennis but

BN

o6, wfem 61+2]j+3k w1 ufmor 3

(A) 11 (B) 7 J
() V48 (D) V50 ,@
(E) aTsrrmféra E,;
safaadi % T Y8 H 40 H ke g
O R o frbe 3 3P 26 T |-
agg # fad i ) 2P v B @lﬁq
fopohe Twig & B 7
(A) 25 (B) 10
(C) 15 (D) gﬁ%aﬁéaﬁ
Vi El.a[él

[e*(cosx —sinx) dx =
(A) €“sinx+c

(B) e“cosx +c

(C) 2e*sinx+c¢

(D) T8 | SIS &
(E) T9=mfya

99. HHIGL Jg ABCD % fiF i A3, -1 2)

B(1,2,-4) 3 C(-1,1,2) ¥ mﬁ‘iﬁﬁ






